*ﬁ §.5.C - (Part-I)-A- 2016

Roll No. e Sobmud ( New Scheme) PaperCode | 5 { 1|9 |3

Sessions;2012-2014 , 2013-2015& 2014-2016

Mathematics (Science Group)(Objective Type) Group-I- a,‘_.a:/ (U"fa/")(.,;:/u"'fb)(.f LJ

Marks: 15 Time: 15 Minutes & 15 =3 15:4
A 38R e h‘elﬂu’zr@?:é;__:D;;I,C,B,A:;U.ﬂ;ﬁfkﬁdlrﬂéﬁq;d Kd!ﬁo:fs/’fd:al,fﬁéiaﬂfrrl?:é]
' ' U SN P 5l EUsAED L CBe A sz L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. ¥=0 is a solution of inequality . e S L el X=0 44

Ay ¥>0 @) 3x+5<0 ©) ¥+2<0 () x=2<0

2. Which ordered pair satisfy the equation ¥y =2x7? ?i_-,él;{_irf[. y=2x sl abii qujf 2
(A) (1,2) (B) (2,1) €)(2,2) (b) (0,1)

2 6 - 2 0

3. Ifl3 x=0,thenxisequalto: —e 4Ly X 9ot (o x=0)7.3
(A) 9 B) —6 ©) 6 ®

4. Thevalueof I is: i P 4
(A) 1 - ® © ! o)

g foge=...... where (€~2.718) | (222 T18).imm0ie =Loge o
(A) 0 (B) 0.4343 ©c) “ (D) 1 |

6. (‘/E"‘\/E)(\/E_‘/g) is equal to: -.J‘L.z:Lx:(JE'H/E)(\/E_Jg) 6
(A) @’ +b’ ®) a’ -b’ ) a-b o) a+b

7. Factors of 5% ~17xy=12)" gpe. gl 35X —1Txy =12y 4
(A) (x+4y).,(5-x+3y) B) (x—4y),(5x-3y)
©) (x—4y),(5x+3y) o) (5x=47),(x+3y)

8. The square rootof @° —2a+1 js; -G ek a’~2a+1 g



l

9. Area of given figure is:

(A) 6 cm? (B) 3 cm?

10. A quadrilateral having each angle 90° is calied:
(A) parallelogram  { Weyi s
(C) trapezium s

11. A triangle having all sides equal is called:
(A) isoceles u‘-? UIgslo

(C) equilateral { W=iiSsl~

12. The sum of internal angles of a triangle is:

(A) 90° @®) 180°

13. In parallelogram opposite sides are:
(A) congruent i

(C) BothA & B Uds

14. The symbol used for line AB is:

(A) 4B ® |48

15. Equality of two ratios is defined as:
(A) ratio =’

(B) proportion  «rl

3cm

6 cm ..%".JJKLP Cf ¢ .9

(C) 9 cm?

(B)

(D)

(B)

(D)

(©)

(B)

(D)

(C)

(C)

(D) 18 cm?

_.—:_[}UH:ﬁQUﬂ:-:U;qEﬁjp'ﬂfgug 0

rectangle JT-B"
rhombus uf)

_:;_Ju‘»ﬁuﬁ.f.—u:dw Loty el A1
scalene {Uzuiil*

e L

None of these
...—;_t*m:fgug;u&uxlél&,lﬁ J2

260 D) 360°

Sl A L Wi Sa 43

parallel  (JJ#

S

None of these

e Skl LABS 14

> —>
AB (D) 4B

_UEZ#”;JHZJJL{@QJJ[_L)E'L 15

congruent S (D) equality ($««
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S.8.C - (Part-I) -A-2015

Roll No. o Sori s ( New Scheme) PaperCode | 5 | 0|1 |9
Sessions;2012-2014 , 2013-2015& 2014-2016

Mathematics (Science Group) (Essay Type) Gm“p'lh'f"/ (2 (-.;.d/uf ) U‘ LJ

Marks: 60 © Time:2:45 Hours &4 2:45:2% 60: /7
Section -I 2x18=36 d.‘i’l,.b
2. Write short answers of any six parts from the following. 2x6=12 #Lg_’)}fakiﬁﬁ"Z»IZ@':.Jf;.wdjau ;

i. Define diagonal matrix. SIS IS0

P 2 10 ..B.hl 0 P 1 2
i 1f 4= 0 <3 ,Bz 0 1| then prove that: AB=A. :fg,f/:.—:l:'*! 1o 11 = 0 —3 A i

iii. Simplify. 16x*y° -1:‘.'.'{/"55

L 3

iv. Simplify and write answer in the form of g + bi . (2 —‘/__4](3 - ‘/_—4) -u:""j 3 Jﬁ J a+bi E.Jﬁxm_)_’/ﬁ"" A
£0gy8 == ;

v. Find the value of X, where: 0848 = E :.ﬁu_[’/?:"i:{ J X .
8a(x + I)

vi. Reduce it to lowest form. z(xﬁ _]) -u:”i Lﬁ‘ﬁu{}f’? ;
vii. Express in ordinary notation. 5.06 x 1[}'HD _u:f"ﬁu.‘.'(’:}r[a Vil
viii. Factorize: 125:1:3—1331y3 _ujfu’f.“ Viii

ix. Define factor theorm. - _L{f._é,'/U g /4“,.19 |

3. Write short answers of any six parts from the following. 2x6=12 _L{éfa[’fﬁﬁyﬁflzfgaéﬁufdj@ﬂ .

i. Use factorization to find square root of: 4 ~12xp+ 9}’2 J:_ﬁc:t" CA i ;f-.g_u,} N
ii. Solve the equation: YP3x+5=3x-1 SISl i
i 4
fii. Solve: 5|3x+2] -4 =11 gL i
iv. Define cartesian plane. —L,IJ":-:E{/TJLSPU-:SE' i
v. Find the value of m and c after expressing the LSty =mx+e ;'/..:.,hl,ff S .
given equation in the form y =mx+c . 2x—~y=T7 —LZ)'[;P&}: J Colmaldl
vi. Find the distance between the points: A(3,-11),B(3,-4) -%ﬁ’#ﬁcjyuﬁuﬁﬁﬁwiié.; Vi
vii. Find the mid-point of the line segment of the points: A ( 'u 0),B(0,5). -agFREﬁmeﬁ;é_MuﬁﬁLm Vi
viii. Define parallelogram. -L{/héi/""JC,LUoﬂldjiP Vi

ix. If AABC =ALMN , then find unknown X . 5 Hu)},&*JJ X (i AABC =ALMN /i




4- Write short answers of any six parts from the following. 2x6=12 _J_/Erf.:-;!ﬁ/"?ﬁr!ztgaéﬁ.uidiau -4

i. What is meant by right bisector. S sl irt§sf i
ii. 3cm , 4cm and 7cm are not the lengths of the triangle. @uﬁ"u?d{ GM!L%J( 7cmusldcme3cm i
Give the reason. | -L{f@u.u;d‘f:

iii. Define congruent triangle. | _qfuéﬁwath‘* i
iv. Define the bisector of an angle. -Lgfuqugfhﬁﬂ[:&f:u Y
v. Find the value of unknown X in the given triangle. " w _L{)?'ML&J xr:'-"tufe.,l’:adfd; v
]

5cm
vi. What is meant by hypotenuse? Sl e AL el 245 i
vii. What is the area of rectangular region. . %‘..t'ﬂﬁ;(ﬁp Vii
viii. What is meant by circumcentre of a triangle. | ?f_:yl_fcﬂ_.,i&nﬁVZ.w Viii
ix. Construct 24BC in which: mAB =3.6cm , mLA = 45° , mZB =175 (WSS et ABC ks iy
Section -II (23>
Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 -r‘;.djﬂgﬁ:u]f,éq&;&&!ﬁﬁmmfng O |
5. (a) Use matrices, if possible to solve the linear fUFlss jﬁjiwuﬂﬁc.s,qgfuﬁﬁ () 5
equations by Cremer's rule. - 3x-2y=4 ; -6x+4y=17 _qfd”ﬁflﬁ»&uﬁﬁ'ﬁ/{f
a \a+h b b+c o \C+a
X X X
(b) Show that: (T) G {TJ A [T] =] if-’:ff*:u:t" ()
X X X 4 *
6. (a) Use Log table to find the value of: 32.709 % Y1.239 ..a_i,j;l"‘:..éa..;;JJwﬁb"}' () 6
1+2x 1-2x o
(b) Perform indicated operation to simplify. = -.":?;‘é,'_ff.fi.; ()
1-2x 1+42x » - ’
7. (a) For what value of "m" is the polynomial exactly 2 L3S8 ‘m Sy () 7
divisible by (x+2)_ P(:::) =45 —Tx* +6x—3m __fgffa:?’};{_q,%-[g‘,/jf (x+2)
2 2 '
X“=x—6 x"+2x-24 -
b) Simplify: + - (&)
(B) Smely ¥ -9 | ¥ -x-12 & (o
X=3 x=2 i | |

8. (a) Find the solution set of equation: T3 2 -Lp?}#:w’s’:..uu (i) .8
(b) Construct APQOR . Draw their altitudes and show that L{/@ﬁxﬂuﬁ'{fﬁuﬂ-‘fh POR & ()

they are concurrent. H?-P—Q =bem mQ—R= 4.5¢cm , mPR =5.5¢cm oy o ,f,j;;f(fc,,,r’

9. Prove that "any point inside an angle equidistant from its ::.ui_njgLJIEJIJLJJJIL.&HUJ%’D/ gzt .9
arms, is on the bisector of it".OR b b Olayirt Lo sli 1t Lo WISsL+
Prove that triangles on equal bases and equal altitudes Simsrde il w6 L PSS Sk
are equal in area. -"JUJMIAU:
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S.8.C - (Part-I)-A- 2015

( New S(;heme) PaperCode | 6§ | 1 | 9 | 2

Sessions;2012-2014 : 2013-20158 2014-2016

Mathematics (Science Group) (Objective Type) Group-II- .?.-sf (u:s/»)(.,:,,fu*’v)(j‘ LJ .

Marks: 15

/'I; Uiy J L;'té b/i.}f.s? rl.)~‘-°":_ ﬁ.-rw.?..«‘rfu.:.- (%

NOTE: Write answers to the questions on objective answer sheet
question are given.Which answer you consider correct, fill the corr
question with Marker or pen ink on the answer sheet provided.

1.1. Order of transpose matrix of

2. Write 4”* with radical sign.

(A) {/4_2 (B) \[‘1_3

.
0 1

_3 2.J

3. The log of unity to any base is:

(A)1 | (B) 10

o (BE)(5-)

is equal to;

(A} 7 (B) -7

(A) (x+1), (3x-2)
(©) (x-1), (3x-2)

6. HC.Fof x—2 and X2 +x-6

iy D
The factors of 3x" —x—2 are:

iS:

(A) ' +x-6 (B) x+3

7. If X is no larger than 10, then:

(A) X238 (B)

. Paints (2, -3) lies in quadrant:

(A) I {B)

x<10

1I

is:

Time: 15 Minutes &2* 15:=% 15:/:.2
g’.%g;fé_.,n;,l,c,B,A;;m;ﬁk.ﬁdrmégqﬂés’@gmyv&f}myﬁziauwﬁ:@i

U e SIS I 3 S s LD L CBAsze L
provided. Four possible answers A,B,C & D to each
esponding circle A,B,C or D given in front of each ‘

2 1
a0 1
-r;.'..,f;.!ru..flﬁ'ﬂ;;l'fé: u__)b 1.1
3 2
_ggdrxﬁﬁéxf‘i% 2
© A& @ V4

_.;,t:fg:l,cfgfﬂgﬂ W HU'( 3

(C) e (D) ©
e a(B+B)(B-) ,
(C) -1 (D) 1

_Lgd/&g_j;gfLsz—x—Q 5
B) (x+1), (3x+2)

D) (x—l) ., (3x+2)
| e (B X +x—6,4x-2 4
© (-2) () ¥+2
WSt 10eid x N1 7

) x<I10 o) x>10

- VUL 52, 3) b6 .8

(C) III h (D) 1Iv



9. Mid-point of the points (2,2)and (0, 0) is: _.-;_,E;Idy.ug(z ,2)(0,0)56 .9

(A)(1,1) (B) (1,0) (€) (0,1) ) (-1,-1)

10. Points are said to be collinear if they lie on same line. ..ugz.ﬂﬂléﬁr‘?uFuﬁéh_;b‘ﬁ...gwl...---__f! 10
(A) one LI (B) two (C) three (& (D) four b

11. Diagonal of a parallelogram divides the paralielogram LU e SRS 11
into______congruent trianges. | i I:*f(:ﬁ-
(A)one i (B) two s (C) three £ (D) four U

12. Bisection of an angle mean to draw a ray to divide the given ,;liiéjﬁuﬁ%.bﬁﬁw’ﬁ;,;yc_dﬁ'@ﬂwj A2
angle into equal parts. _a_/r‘:{rtuﬁ,;u _________ S
(A)one (i (B) two s (C) three F (D) four

13. A line segment has only mid-point. e b SR 13
(A)one (B) two (C) three £ (D) four b

14. What is the area of given figure? - ?.;__Jj;(fd‘fj: 14 ‘

4cm

(A) 16 cm? (B) 8 cm (C) 64 cm? (D) 20 cm

15. The______altitudes of an isosceles triangle are congruent. -LE.L::J‘PCLELJ _____ &.&ﬁ-u-‘? Vil 15

| (A) two  a» (B) three uf (C) four s (D) none of these uf’u“’df

219-09A-Y¢



8.5.C - (Part-I}) -A-2015

Roll No. St ( New Scheme) PaperCode | 6 | 0 | 1 | 9
Sessions:2012-2014 ; 2013-20158 2014-2016
&
Mathematics (Science Group) (Essay Type) Grﬂup-ll-urﬁf (,_.,ﬁl:‘il)(..,,:fu"’Lr) U‘ LJ
Marks: 60 | Time:2:45 Hours &£ 2:45:25 60: 7
~ Section -I 2x18=36 Vil
2. Write short answers of any six parts from the following. 2x6=12 -q&faylﬁﬁcﬁpI:Zlgc..zjfs.g,tgbau 2
i. Define row matrix and give an example. { 9 ..Lg_';uflﬁuslu__f...yﬁf.._.)ﬁ'dxlbﬁ' {
| 1 2 3
ii. Multiply: 15 6l # e S
-1 1
3 3 - .
ii. Simplify. 5% +(5) i
iv. Find the value of x and y if: | x+iy+1=4-3i Sy Jpped§ Y mx
v. Find the value of X from equation. log; =5 ,J_,/E'P.-_-.LEJ X e (Jmzhls v
vi. Write in the form of single logarithem. 2Logx-3logy -&:.’ﬂutfnff;%»h i
| 8a(x+1) |
vii. Simplify. 2( 2 _1) ..:._,{F’ Vil
2 ;

viii. Rationalize. 5 LU F il
ix. Factorize: 3x—243x° U £ i
3. Write short answers of any six parts from the following. 2x6=12 -Lg_’)}f:al,[z/gﬁrizqz.ﬂfa.uc St .3
i. Find the H.C.F. (¥ +5x+ 6) , (x* —4x -12) g/

1 1
ii, Solve. 4—53‘:2—7 +EJC _J‘/Up i
1 .
iii. Solve. —§x+5 <1 AL i
iv. Verify whether the points (0, 0) lie on the _u&’_l,.;;.éu{ 2x—y+1=0¢1(0,0 )wi/a_,@(&m" iv
line 2x=y+1=0 ornot.
v. Find the value of "m" and "C" by expressing the linc JLbLFS y=mx+ef 2x~y=TH v
2x-y =7 inthe formof Yy =mx+c, ._ e fretmt
vi. Find the distance between the points A (-8 ,1),B(6,1). Aol A(-8,1),B(6, 1)56 i
vii. Find the mid-point of the line segment joining the points A(-8,1),B(6,1) -uj)fvbcsﬁéwﬂsﬁé_ué_a! b Vi
vili. What is congruency of iriangles? Se sl £ UGUS” i
ix. Define " square". JIBFSE ix
4- Write short answers of any six parts from the following.  2x6=12 /L felz L7z e dle Ui it -4
i. Define altitude of a triangle. ' _4;3,;"& C,l.i.-}lz;'&..ﬁ“ A
ji. If 10cm, 6¢cm and 8cm are the lengths of a triangie, then verify that .:.:E?uxacm;ﬁﬁcmrmcmul;gn'gf buﬁff..i.b"ﬁ_.ﬁfl Ji

sum of measures of two sides of a triangle is greater than the third side. us‘iﬂxc,gji_a’(f é" AT A U0/ AL :_{




iii. What are the similar triangles? c st dorfltl s i

iv. Inisosceles APOR shown in the figure find voum " u§ VigsLnLi APOR tﬂfé@: iV
the value of X and V. ' -J_/['J’"@EJ y ;:Ix%w
Q R
6cm Y
v. Sides of a triangle are given, verify that these %ifmbpgéﬁjugg):f sl el v
measures are of right angled triangle. a=15cm , b=2cm ,c=2.5cm _.f,wfjljlgfﬁf,:’
vi. Sides of a triangle are given, verify that these measure are of %@f:-:b’p_ﬂ@%.!ugggf Lwal s i
right angled triangle a=9m , b=12em ,c=15cm _%wfnﬁrﬁﬁf
vii. Define the rectangular region. _é’uﬁrj’.&;éﬁ’ Vil
viii. Construct AABC in which: mZB=60" , mBC =3.Tcm , mAB=48cm  WSU &k ABC &4~ Vi
ix. Define circumcentre. | _af/._e/"'{f}“ﬁ} JAX
Section -II r;:,.:e)
Note: Attempt three questions In all while Q:No.9 is compulsory: 8x3=24 -.;.djusﬁdfr,éq&f@ym&ammff iy
5. (a) Solve by matrix inverse method if: 3x—4y=4 ; x+2y=38 :)‘IJ_/J’.:,:.:.J L uds () 5
2 1 _
(216)3 x(25)2 5
(b) Simplify. = w72 ()
(0.04)2
6. (a) Use the log table to find the value of $/2.709 x U1.239 _%PQ;_J;JJ,@(%@ () .6
1+/2 1-42 ;
b) Simplify. ——t 7 (L)
(b) Simplify | J5+03 5-B J -
7. (a) If (x + 2) is a factor of 3x* —4kx—4k*, then find ¢ 3x? —dkx — 4k 42 (-’C+2) S .7
the value of "K". _L,_{)F’:'-"QEJ“K"?::L}F;Z
(b) Find the value of [ and™ for which the following expression J_, j&,;_sc.—..uﬂu/?;b’:é J m 0 L (n.;.-)
will become of a perfect square. 49x* —70x* +109x* + Lx —m -E_ls_n;ﬁc’;;d{lf:
8. (a) Solve the inequelities: 3x=2<2x+1<4x+17 EWinad (LI 8
(b) Construct the A XYZ .Draw their three medians and S Jﬂf[zjﬁ.::ug el b XYz el (&)
show that they are concurrent.  M£X = 75° , mZy=60" , myz =4.lcm oy Py
9. Prove that the bisectors of the angles of a triangle are concurrent. OR L -@Lﬂ'ﬁﬁdﬂtéugn}uf&wuﬂufmﬁ 9
Prove that the triangles on equal bases and of equal altitudes jxuumf,e:bli?;bﬂa.xﬁﬁ Ju:‘f" lﬁﬁq/h:q&
are equal in area, _Ju:rz:l..:uﬁ

220-09-A-




WK S50 (Porstpde 008

Roll No.__ S (Old Scheme) PaperCode | 1 | 1| 9 | 4
Session; 2011-2013

Mathematics (Compulsory) (Objective Type) Group-II- s/ WS’ LJ

Marks: 15 Time: 20 Minutes &420:=3 15 /"
P38 e Wz £4-D1,C.B Autlyﬁuidfr;cgqrds‘dw‘ Y Gtz e vplind s
_wﬁ.:,wuJJLﬂLL;meJWuLD | CBcAszelLL
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
guestion with Marker or pen ink on the answer sheet provided.

1.1. Write in common notation: 2.35x 1072 - e bl 235102 UAE Sk A

(A) 500 (B) 0.0235 (C) 700 (D) 1000

2. 4x’y*+3is degree polynomial. ...—‘;.J’J/i/Jd)é 4%x°y* +3 2
(A) two 2 (B) five &l (C) zero (D) three of

3. Which set is the given set? 1,2 ,3 s } ce iUl 3
(A) empty b (B) natural Jx.ﬁ (C) prime  s* (D) even =&

4. Find the range of "R" f R={(1,0),(2.1),(4.3); SR 4
A {1,2,3} ®) {1,2,4} ©) {0,1,3} D) {2,3,4)

5. The set {0,1} has closure properly w.r.t : _.:-_____L'&Jﬁ:u:ffi.‘vd {0,1} 5
(A) addition & (B) subtracton & (C) multiplication ./ (D) division (&

6. (4)3- is equal to: _..%_J;Lr:(‘i)az 6
A 4 ® 4 © ¥ o 4

7. Find the value of X if: o Logyw=2 Sy fpboedl x 7

(A) 500 (B) 100 (C) 10 (D) 1000



8. There are acute angles in an acute triangle. _.—:_3,»; ;rﬁ"JLJJ_’:UuLpu:&.«Lﬁ,;Iﬂiuw’( .8

(A) one (B) two = (C) three & (D) four s

9. AB means: -cireAB .9
(A) 4B (B) AHB () mA4B (D) m fﬁ}?

‘0 AR Y () | (S ) @ =B =(a=D)(ccererrirreciurnnas ) 10
A) a’ +ab— b’ (B) a* —ab-b*
(©) a’ +ab+b? (D) a*—ab+b*

iy x2+x"'6isequalto: _r‘;..asi.a:xz"'x"ﬁ A1
A) (x+3)(x+2) ®) (x-2)(x+3) ©) (x-2)(x~3) ©) (x+2)(x-3)

12. What will be added in 99" —12b {5 complete square? bl ez By e 99 —12ab 4
() ~160° @) 166° ©) 4’ o) 9

Z 3 2 3

13. If [4 x] is a singular matrix then ¥ is equal to: ~esls X Gt [4 x] Ji 13

(A) 3 (B) 6 (C) 4 (D) O
1

14, Solve: [x Y ][2} = WAL A4
(A) x+2y (B) x+3y (C) 2x+y (D) 2x+3y

15. There can pass lines through one point. _gpENE e JSLL 15
(A) two o (B) three & (C) four (D) infinite 5.

329-00A-TC W




S.8.C - (Part-I) -A-2015

Roll No. e Spdmad ( Old Scheme) Subject Code| 1 | 1| 9
Session;2011-2013 .
Mathematics (Compulsory) (Essay Type)  Group-Tlazs S (2B Sis” L
Marks: 60 Time:2:10 Hours gl:lﬁ::ﬁ: 60:/'.';
Section -I 2x18=36 Jito
2. Write short answers of any six parts from the following. 2x6=12 -q&ibbmfﬁﬁfizhzﬂré}(&bc J_jfy.u 2
i. Define disjqint set. -J_f._é',?"lf.‘.-,r..f }‘-'3’/{ X
i What is difference between {2 ,3}and {(2,3)}? e JAV{(2,3) (2,3}
iii. Write the power set of { 3, 4 }. g7 feenK(3, 4} i

iv. Define square root. U 5E e v

\/g(3'\/§+2\/§) _4;"/_-,-;

v. Simplify. v
63
vi. Simplity. | [izgj U i
vii. Write down in single logarithem log5+Log6—1Log2 IS ety i
viii. What is meant by characteristics? el e b il
ix. Find the logarithem of given number. 8.213 _q)/r:b’(?);%ﬁé’f{.—: JAX

3. Write short answers of any six parts from the following. 2x6=12 idp)};égiﬁjgéﬁlzlgLJ)(&L}:(Z.;Z'/JJ 3

i. Define polynomial expression and give an example. _J_,JJL‘Z'*J:U_/LE/UM -

ii. What is meant by degree of a polynomial? ?q_:yy’;,_;,uzi)z@.yéf i

iii. Find the circumference C of a circle having radius 7 =3.5cm 7 =3.5cm Ji:;lfg_}l:ﬁéq/rr;"’(:b;&_}b i
and ﬁi—zj?g where as C =27r. (_.%.C=2?rr_§)?r=g?z |
iv. Factorize: v +5x% -66x -q/df Jiv ;
v. Factorize: x’ +125 ..q_‘fdf: v ;
vi. Factorize: x° ¥1 _L.g_’fdf Vi {
vii. Define H.C.F. 5 i
viii. Find H.C.F by factorization. 22—4 , 242 IS E e i

ix. Find square root by factorization of: 49x% +112xy + 64y* el £assl 7 ix



Pl LT o AL B e = B . o Ry | Rty R s B o i i

4k T e e L T T Y e tw el gem—— s

4- Write short answers of any six parts from the following.

Define complementary angles and give one example.

Define equilateral triangle.
Define A.S.A ( angle. side. angle) postulate.

3 2
lfA=[4 3],B=|:1 0],thenﬁndAB.

2:x6=12 S fe L oz e S 5t -4

-

& 4:d$‘):fc§/hﬂ/JU£sfxdfu(
ey e i

:‘é{)b;r"fﬁ’ J..(f_.; i
3 2

_%JVAB?:?B=[1 ﬂ]rA=[4 3]/’il.il.f

Iv.
- 3 —4
v. Find the value of x, when X+ 4 = 3 ,ﬁ‘u_)?'}”‘:ff J b AY
vi. Define median of a triangle. SISl el i
3 -8 )

vii. Find the determinant of matrix 4 9 UG i
viii. Define perpendicular bisector. _é._gj"(f_ﬂl:d:f Vil
ix. Construct APOR in which: FQ =4.1cm , @ =3.8cm , ﬁ =35.2cm :ufu’-?,.h POR - 2. X

Section -1I | r’s:,.h
Note: Attempt any three questions from the following: 8x3=24 -gl‘/';ff@tlzﬁ@ﬂlrcfa.&(:.;ﬂ J_’.‘iﬁm 12y
5. (a) If U={1,2,3; 10} A=(2,4,6},B={1,2.3,4 567} S () 5
then prove that: (4NB) =4"UB* g et
43m+3n+2 % 102:: K9”+l .
(b) Slmpllf}' 152r1+2 % 22;! % Slm-}-lﬂﬂ -.J_f/'l'! (1._-')
6. (a) Evaluate with the help of logarithms. 2391+3072 e ie w8 () 6
i 8 (x2+ 2)-. x+y=6,x-y=4 . B s Sodrr 3 (8 (x2+ 2) (
(b) Find the value of ©*¥ Y )ik Y=0.%7F By d XY Y )
7. (a) Factorize: x* +8y° +2° —6xyz _glsF (.7
(b) The product of two polynomials and their H.C.F is Xt =5x% +2x% +20x = 24 _ A WbURS A1 (&)
x* —5x3 +2x* +20x — 24 and x +2 respectively, find their L.C.M. -éé'r/‘:b’(.ﬁy.jl:ﬂﬁguﬂ;ﬁ x+2 s
3 3 y B 3 3
8. () If B= 4 1 | then prove that: BB~ =1 SISk in T 4 1 () .8

9.

(b) Draw right bisectors of the sides of AABC in which:
AC=48cm , AB=06.5¢cm

Prove that; the sum of the measures of three angles

of a tirangle is 180°.

330-09-A-

:uiu’-%f'{md»fécwﬁaﬁc ()
, mZA =105
UedslyS L el Sy St 9
e x180°.454¢




* * ';A( S.5.C - (Part-I-A- 2016

_RollNo. e e SsPat (For all sessions) . PaperCode | 5 | 1| 9|5

Mathematics (Science Group)(Objective Type) Group-I- .?,,;/ . (U:faf’)(u..;:;uf lf)dﬂ LJ

Marks: 15 " Time: 15 Minutes & 15 1= d
A Q831 en Wt et L £ 9D C B Az Bl L Ui 2258 (31255 ISzl e tvplinsd
. S eSS I 3e LD L CB A szl |
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer w}u consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. What will be added to complete the square of 9@° —12ab 7 Ly VS SE g e 9a° —12ab 4 4
"
(a) —165° ®) 165’ ©) 4* o) —4b°
2. LCMof @ +b” ang a* -b'js. _.g..ﬁ,.il.‘bhjl( a‘-b' ya*+b> 5
(A) @ +b° ®) @-b" © a'-b* () a-b
T is a solution of inequality =2 < * < 5 _.‘;.uCK..*{J’L —2<x< Ec,i.au/f X vmens 3
| 3
(A) -5 | (B) 3 (C) 0 (D) A
‘4. Point (_3! '"3) lies in quadrant. . -,i;.u.fé;é:dﬁ" (_3="3) L 4
(A) I ® I ©€) Im (D) IV
~1 =2 1 0 | ' -1 -2 1 0
5. 15| o _11%|o 1/ then x isequalto: | dexF Xt o0 |Flg (|05
2 2| 0 2 2 07 . 2 2
(A) |2 o] - B) [» 9o © (o 2 D) (o 2 |
6. Imaginary part of ~ (Bf +2) is: | .-9.-'»6 /";Z‘I!s""f (3f "‘2) /‘u*.-a-'-/ 6
(A) -2 (B) 2 (C) 3 - (D) -3
2 LogP—Logq . equal to: | o | _é L1, togP—logg -
q ~Logp P
log| = | - tog(p—q fﬂg(—)
R [ p] @ “2(P=9)  (©) e o) ‘o8|,
8. (\/E—LJE_:)(JE—JE) is equal to: | | ' -ﬁ:.gcl,;(\/g'*"/b_)(‘/g_‘fg) .8

£ o a ® - ) a-b B



9. Right bisection of means to draw a perpendicular | Lz.'."gr‘ L_{L_;M,aﬁdu’r‘;.ﬁ;?c.:_&af"d;ﬂf _______ u'f 9
which passes through the mid point of line segment. | eSSBS
(A) line (B) ray (2 (C) line segmént 13,28 (D) angle sl >
10. Equality of two fatius is defined as; | | | .l-qgfyﬁdzwc)yﬂiukj; 10
(A) ratio =’ (B) proportion ot
(C) directly proportion  wrbrzls (D) inversely proportion = u‘ﬁ‘
11. Congruent figures have area. | '_ ;b_rra}r_-*--_ﬁ.,d,._:";.j&ffu“ 11
(A) same. =L (B) different _i¥ . () empty (¢ (D) noneofthese U0/t @
12. One angle on the base of an isosceles triangle is 30° . What is the Ls‘iJLJf_.;-_B_Ddfslj__C.i{;ﬁﬁ'L&.«ﬁw‘f de:ﬁ 12
measurement of its vertical angle? o ?ﬁ:.{_c’:riﬁ&;__sl}
(A) 30° - (B) 60° (€) 90° . (D) 120°
13. Distance between the points (1, 0)and (0, 1) is: | e bl (0, 1)1, 0)56 .13
(A) 0 | (B) 1 | GRS (D) 2
14. Ina tri'.angle, there can be only right angle. -4 CZEIVEY {1 — PP ACH AR V'
@1 ®) 2 (©) 3 D)4
15. In parallelogram n.pposite sides are | . _ -ugi..;r____-;(ig__t,ﬂm..ﬂ?ibﬂ-‘omdjr?\_ﬁ 15 *‘
(A) congruent _Lfb"" (é} not equal to u.‘f«:b: (C) alternate 'JJI;;_ (D) opposite I

217-09-A- W W




S8.8.C - (Part-I) -A-2016

Roll No. bt (For all sessions) PaperCode | 5 [ 0] 1 | 9
. L
Mathematics (Science Group) (Essay Type) Grﬂ“P*I“h;'-'; (.2 E’JI)(.‘.;:)D"" ) U‘ LJ
Marks: 60 Time:2:45 Hours &£ 2:45:=% | 60: /7
Section -I 2x18=36 Jilo
2. Write short answers of any six parts from the following. 2x6=12 -J_)}f:ayi:/"?ﬁf!zga.[jf:.btd_’j&ﬂ s
i. Define diagonal matrix and give an example. _g'idif'uﬂafr_éﬁf.__.iﬁ'd}: i
1 -2 0 7 | 0 7 | )
i. 1 4 =[3 4 ] and B =[_3 8} , then find: 34-28B :J__)’rk'?ﬁB =[_3 8] mA= [3 4 J)’n’ ji
iii. Write any two properties of real numbers. B | -%;fayr“%;gjf&mf i
(4+5i) _ L (4+50)
iv. Express (4_5f) in the standard form of @+ 57 _%Lﬁui' a+bi ﬁd;_l:w’l (4_5f) v
v. Define common logarithm. 3 _éi-:.i_-' }Jﬁb":’(b Y
vi. Find the value of: | L0g512 to the base 2+/2 _%@F)b’;f Vi
vii. Define surds and give an example. | ' _a_{sdw%_gﬂ(ﬁ;}w Vil
2
. . (x+y) —4xy _
viii. Reduce the rational expression into the lqwest form. (x-—y]l uc_{J_iu’f 4 }/;; Viii
ix. Factorize: E X +6x+9-4y2 | _é&fu X

3. Write short answers of any six parts from the following. 2x6=12 _qéfal,mﬁ?&mgr.éﬁgxdsea 3

i. Find H.C.F: 39x"y’z , 91x°y°z’ i |
, | 3x-1 2x | |
ii. Solve the equation: . 3 x—1 =X 'igff’fmu i
iii. What is radical equation? B Seslp U mblasde il
iv. Define collinear points. ~ _;,{/hgfﬁgfbuiﬁﬁ v
v. Write given equation in the form of: Y =mx +cC, 3x+y-1=0 -u:’ﬁui(ﬁd/ y=mx+c fahb‘f SR
vi. Find the distance between the given points: A(2,6),B(3,-6) _%ﬁyﬁﬁdyﬂﬂﬁ?iéd Vi
vii. What is meant by equilateral triangle? Sl SBLUIGL Vil
viii. What is meant by congruency of triangle? ?;;_:yg’:_.z‘f wlels vii
ix. Define median of a triangle. - _ -E?T-E’/Jd;ﬁlhdéw ix

4- Write short answers of any six parts from the following.  2x6=12 _f/%feliz L iz e (et )50 -4

i. Differentiate between bisector of a line and angle bisector. S O WUt e sl irt i 1585 |
ii. If 3cm and 4cm are lengths of two sides of a right angled triangle, Un( Al 3u§HJ C,ﬂblsjdi&ﬁ,:sfﬂl:fﬁ‘ﬂ i
then what should be the third length of the triangle? WS Sl ety




iii. Define congruent triangles. | SIS PStb S i

iv. Find 4B if AE=32cm | Ezl%}ﬁ , EC =4.8cm :-!f’uf/?!b’ AB v
D > E
B> C

v. Verify that the following measures of sides are right angled triangle. -@wa:fff:fﬁ*uEHJ Eustd 2 o LST AP § .

a=1.5cm , b=2cm , c=2.5¢m

vi. If two sides of a triangle are 1cm and /2 cm.Then find the bed™Sun” 2 sl 1ubLds Eoinl e do ()1 i
perpendicular of triangle. St
vii. Draw an angle of 45°. _c,fb:f:l}hiﬁ“ Vii
viii. Define parallelogram. Write its formula to find its area -L{/Efﬁlr;ﬁb’i./?:'ﬁ}'ﬁw_q/hyﬁf Cheii$ins viii
e Constru;:t 3 AABC when: m;&fg= 3cm = mzé-: 32(3”’1 ) mLA = 45U | .-éé-'-’ ABC j_,,[,‘.". ix
Section -I1I r.!.!,..-'b

Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 --I':':.-.-.djUgjz;djfg‘éqp&ﬁbyﬁ&@u[fbfw Ly

5. (a) Solve the linear equations by Cramer'srule 2x+y=3 ; 6x+5y=1 _4:}’:,;..-.@;13'& ﬁ)?’u?l;lw () .5

(216)% x(25)% '

(b) Simplify: \/ (. {}4]% -.g(/" _(n,r)
(1.23)(0.6975) ) '

6. (a) Use Log table to find the value of: (0.0075)(1278) ..%F:L‘”.:‘ELJAJJW(‘%H () .6

(b) Findthevalueofm2+”2+P2if: f?’*‘+“+P=1{’¢m”+"P+mP=27- :/'T‘-f../f'-*l#ﬁ-ﬂfdlmz"‘ﬂz"'pz (*'r’)

7. (a) Determine the value ofkifp(x)=h_'3+4x2+3x—4 ;;IP(I)=kx3+412+3x—4u:{/§"¥:ﬂfp{rk () 7

| and g (x) =x"—4x+k leaves the same remainder ulufcdi.ff'-’ax: (-1' = 3) i q (I) =x"—4x+k
when divided by (x=3) ¥ 0
(b) For what value of *k" is (¥ +4) the H.C.F of Ute o (x+4) LF e (L)
x* +x~(2k+2) and 2x% + kx~12. | K 2% k=121 X +x—(2k +2) <
3=5x| 1 2
8. (@) Find the solution set of given equation: 4 | 3~ 3 _QJ?P_LfJ”E’;I;L»J‘fj; () .8
(b) Construct AABC and draw perpendicular _u,:"""{iﬂtd;.»fibu:olcﬁwwgfh AABC (o)
bisectors of their sides mAB = 53cm , mLA=45" , ms£B =30" |
9. Any point on the right bisector f a line segment is c,u.yﬁiéﬁ,liﬁu?ﬁdF:{Jﬁbd;fﬁﬁ;ﬁdi‘ﬁ.{fﬁ .9
equidistant from its end points. OR | k — By Lol S5l

Prove that friangles on equal bises and of equal altitudes are equal in area. ..qum:l.;U:;;nsumr,«:t,té-}uﬂ;_xﬁ'& u’uf‘b" 1,6!,,!’;,{/‘::,:?
' 218-09-A-



*ﬁ _ - S.8.C - (Part-1)-A- 2016

| Roll No. | TPt (FOI‘ all sessions) Péper Code | § 1191 4

Mathematics (Science Group) (Objective Type) Grtmp-]i- .fs; ((,5""3»/"')(.h..F.r.«uf,)':"""l,--)(j'p LJ

Marks: 15 _ ~ Time: 15 Minutes &> 15:a% 15:/-;;
- AIvigdbdizas -ym_.,?;f__.,mu’-xu_ra’fé.:D;,I,C,B,Aagrgﬁgidlfﬁgngb’drﬁoﬁﬁdﬁmygzﬁa Uy lFidd
' S SN de S e s D | CBe A szl
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
" question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

i
_ o 3 L3 T
e is a solution of the inequality ™= <X < 5- _.:-_be’..’_;_rJZ —2<x< 5 et X = rerereens 141
5 | : |

(A) (B) O ©) 5 (D) 3

2. If(x*l , y+1) Z(Urﬂ), then (%) equal to: _T__}M(x,y);ﬁ(x-—l , y+1)=(0,0) 5 5
o -1 ‘@ (-L1) ) (L1) | o (-1-1)

3. The order of matrix 2 1] is: | | -2k [2 1]._,11;' 3

- 1 D |

4. The property of real numbers used in 7"; =lis. : : ..:f_-.:f::’létﬁwld-yuf ?x; =1 4
(A) additive inverse  U#3% (B) additiveidentity 401337
(C) multiplicative inverse u’ﬁ‘q ,r-’ (D) additive property  ==b3%

5. The relation V= log; implies . LT wy=1og; fi 5
(A) ¥ =2z ® Z=x © * =y @) Y =¥

6. Ax+3y =2 isan algebraic . T D /r._g 4x+3y—2 6
(A) expression M (B) sentence a/'“'5 (C) equation <l (D) inequation .-:.«I:L-y,-f

7. The factors of x*> —5x+6 are: | UL X —5x+6 T
(A) x+1 . x—6 {B) xX—2 . x-3

& HCFof 5%V and 205 js: e 205°Y 45X g

(A) szyz ' | (B) 20.173_}’3 | (C) 100.1’5_})5. (D) Sxy



:

9. The symbol used for congruent is: - e bt nd L5 9
(A) = " (B) o© ©) = D) ~
10. If "a" is the side of a square, its area is: et ik ina B, Ehsd,500 10
(A) a (B) a° (C) a*square units (UL¥1E,) (D) asquare units (UL¥IE,)
11. Distance between points (0,-5)and (0, 0)is: —e Joliglend (0, 0)s/(0, -5 )56 .11
(A) 0 - (B) 5 ©) -5 (D) 25
| 4
12. Equiangular triangle is also triangle. H,T_dﬂ&&.fé ........ wf;lﬂldju 12
(A) isosceles ZUISLE  (B) scalene  {uweuii¥  (C) rightangled .s/i246 (D) equilateral {weuiin-
13. One angle of a parallelogram is 55°. The remaining angles ug:ljdny_r;_,K'SEDf:UhﬂE’ L a8t 13
are of measures: -.-{_,EL,}:JIAE’J
(A) 55°, 55°, 55° @) 55°,55°,125°  (C) 55°,125°, 125" ®) 125°, 125°, 125°
14. The side of a right angled triangle opposite to 90° is called: _;,Ea','"./fé"’ c."._l':é."..lfﬁé._!ULljgﬂnuﬂ&eﬁfslﬂﬁﬁ' 14
(A) base - sl (B) hypotenuse (C) perpendicular ¥ (D) None x,,f.‘.'*"{j:r
15. In the given figure if mLABP =mLPBC  then Lo iy MLABP =mZPBC Lﬂf[ﬁ& 15
is called bisector of £4BC ety LABC ;5
. '_T}' q - .
() BP B8) BC © B4 (D) None A0S

219-09-A- W




5.8.C - (Part-1) -A-2016

Roll No.

Mathematics (Science Group) (Essay Type) Group-II-ufﬂj

Marks: 60

Time:2:45 Hours &% 2:45:25

e S3s3 M (For all sessions) PaperCode [ 5 [ 0 | 1

Section -I 2x18=36 Jilo
2. Write short answers of any six parts from the following. 2x6=12 _qéfagmfgﬁf!zq;éﬁuﬂij@ﬂ

.. Define "Rectangular matrix" and give an example.

li. Find the product:

[ 1
3

iii. Use laws of exponents to simplify.

iv. Simplify and write

9-7i

— in the form of a+bi .
3417 :

v. Find the value of X from the equation.

8

vi. Find the value of E‘-r‘""-‘i-':;."if: Log2=0.3010, Log3 =0.

vii. Reduce the given rational expression to the lowest form.

viii. Rationalize the denominator of:

ix. Factorize: -

i. What is meant by H.C.F?

—

iii. Solve inequation:

. Find the solution set of:

iv. Define abscissa and ordinate.

v. Determine the quadrant in which point lie.

vi. Find the distance between the points:

vii. What is meant by SAS = SAS postulate.

viii. Define median of a triangle.

(x-!—l)(xz _14) J,fufyc[}/‘if&ubtéfé_,a

J/S

._2.._ T J( Z

55— ALy
x* —11x—42 JSE

3. Write short answers of any six parts from the following. 2x6=12 - _éfpgiﬁﬁ?ﬁﬂzg’adﬁwdiaﬂ
':‘.-.::._Jyl_.:‘::.fyfgl.c :

1 .

5’3x+2|—4=11 _EEF,I;!_H,J
3x+1<5x—4 ; _zﬁ&’f;—,upj
_2__,@(..@; ;J&_-—ELT;JIL;HI §

P(-4,3), S(2,~6) AP

(6,3), (3,-3). U ke bkt

| S Moy SAS = SAS

_.&_?(_.;,J/"'Jflb—_ui;ﬁ

_LZ_/._.E/;J“é/"”

ix. Define " square".
4

Write short answers of any six parts from the following.

. Define bisector of an angle.

ii. 3cm,4cm and "?'ém are not the lengths of the triangle .
Explain with reason.
iii. Define similar triangles.

_L{:LJIS"*J:I#:@}J‘:._JFU‘;P"

2
4 1 2 3
|4 s 6 Ay
5 x-zy-tz-q =3 ' ‘
W o é_‘,_{/‘;/c...:,.a qu.'.’l;"[.l Ve §
i ok ., 9-T7i
A FS atbif =
Log?, =32:- Sl ¥ el
8
4771, Log5 =0.6990 1/;'L{f'f‘3j"’¢fd/ Eogg—

(x+2)(x*-1)

Ly St L s

-~ uf-‘"'LIEEJd’ &ilﬂibif"&( 7cmusldem,3cm
_,‘%_J‘,g(:ﬁ L&;:_,Jf;

St

280G/ (S
60: 7

2

i

Vi

Vil

Vi

Vi

Vii

Viii
AX
2x6=12 S felin Pl ntg e (e iS5t -4
i




— ] ——— L —n I r— .
iv. InALMN shown in the figure MN ”PQ i )L:_-_ MN ”PQ e LMN%JJ%’T}: iV
:mLO =2.5¢m , mLM = 6cm and rnQ_N =5S5cm , Q Zl rnL_Q_ =2.5¢cm , mLM = 6em
then find mﬁ : " . -’:fF:‘"" (.gl-i'ur mﬁ % m:Q_A_? =5Scm

b

v. In the given figure find the unknown value of x. _Lg,?,bf;.ﬁf g X (o LSS v
10cm
6 cm
; : X T
vi. Verify that the trianlge having the following measures of ._;/Qj J-‘LDELJ: j,?JpUELJJ Lol et i
sides is right-angled triangle: a=1.5cm , b=2cm ,c=2.5cm Ry Y O
vii. Define rectangular region. .."__é::gf/'{fj;dy Vil
viii. Construct A XYZ in which: mLY =90° | mYZ=2.4cm , mZX =6.4cm WAVOR o YA R
ix. Define centroid. _:':_‘é:.y/"' XA i
Section -I1 rn,.:a |
Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 -g_djﬂﬂj:;dfr.éq)}fal,m&;mmff i)
5. (a) Solve the following system of linear equations by using matrix U AL R it 5t (L) B
inversion method: 2x+y=3 ; 6x+5y=1 | _a;ffj";:_.MJ
2/ %275 x 60/ |
(b) Simplify. (18 U)’VZ ( 4)-% <(9) A L7 ()
83x3/92 . ) |
6. (a) Use the log table to find the value of: 127x 30246 = r:""..*:‘?,,c.ud’dw(ﬂ‘lé’ﬂ () 6
o 4x-12  18-2x° P
(b) Simplify. P00 Fitein uZ ()
7. (a) Factorize: x* +48x —12x* — 64 ' _%{5 7 () .7
(b) For what value of "k" is (¥ +4) the H.C.F of U Aol (X +4) A F e (L)
x* +x—(2k+2) and 2x* + kx—122 o 20 +hr =12 51 X" +x—(2k+2)
8. (a) Solve the equation: |3x+10] =5x+6 _i’:_,@g’:'/@btm () 8
(b) Construct a triangle POR . Draw altitude and A L)_’/J‘_ﬁuuj.:fcﬁ;!-ufh POR &k ()
showthat they are concurrent.  mZP =105 , m£0=30° , mRP = 3.6¢cm Ut s b5 s
9. Prove that any point inside an angle, equidistant from its e UL E LIS i.uﬂl.“gsuﬁf .'_-_§/._—-,-—lv 9
arms, is on the bisector of it. OR I = byt Ols it L g st B Fye Lo oL+
Prove that the triangles on the same base and of the same u:uubli:'ﬂﬁuwluﬁdhgwEi‘..{fﬁu:‘.% dif é;,-b
altitudes are equal in area. : - _quﬂ,gl,;m.}'m

220-09-A-




*ﬁ*  S.8.C-(Part-I}-A- 2018

ROZINO-_ _ _-'_/.:E..!!.’Jf.i.yf (For a“ sessions) Paper Code 5 1 9 5

Mathematics (Science Group)(Objective Typej Gr.nup—I- n?-:; (U'?!/" )(-,r.u;u:" flk)d‘ LJ

Marks: 15 . Time: 20 Minutes &4 20 '3 15:/:}
YOS ONIAL Y -m_;‘rf.,,ma’wu;.{{_;mr,c,'B,A:,yﬁ;%ﬁdnrﬁzgﬂQ&’Qm&Sf&fd,_ayrgﬁaunfrﬁ:.w

h | S LSS NS S 3 S s LD | CBe A sz L

I‘:IDTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. A triangle having all the sides equal is cailed: I-.;-@Mujfml;:u;_ﬂ,«‘d/ cuznru".f.u’-w..g 1.1
(A) isosceles u‘-‘:" Vigsls  (B) equilateral {W=ii$st+ (C) scalene {uxuiil¥? (D) right angled trianglesd® s /124¢
2. A has two end points. | QR ¢ ST Rp Y A .
(A) line W (B) line segment =2 (C) ray (L* (D) plane (&~
3. Dis the figure of -‘;:_Lf.-..--‘ﬁ D 3
| (A) parallalogram { Wwepi$ii# (B) square Cﬂ/ (C) rectangle Jf-bp (D) trepezium  3js;
4, [f(%is right bisector of line segment 4B, thenmAQ =...... Ne MAQ =...... I 22L 5356 AR 1555 é%ﬁ 4
A 0 B
\Q/
4D
: S
_ (A) mBQ (B) mOQ | -(C) mOA (D) mOB
5. Three non-colinear points determine a g SUo K.--_J:E'rf‘?/;ﬁ;f 5
C(A)ray  Lf (B) line Ik (C) line segment  k3.abs (D) plane (=~
6. Unit of area is: -‘::_JB’IJ,.}}_.G
. (A) m? (B) m? (C) m (D) m°
7. The medians of a triangle cut each other in the ratio _.,,59'_/ (ﬁ""u::.-er.--__:E_ /::.{ﬁ.f_b:z:w 7
T (AY4- 1 (B) 3:1 (C) 2:1 | (D) 1:1
V2 0 ‘ | 20
8. o 7| called matrix. | N S 0 V3|8
(A) zero (> (B)J scalar )-:C (C) unit'ary f}l,w (D) singular
Q. In%/3*_5 the radicand is: -‘L-.b-gé){_}:%/ﬁ .9
1 | 35
(A) 3 (B) 3 (C) 35 B) 5
10. The logarithm of unity to any base is s | -c;:_.cb:é: ______ (glﬁlb’ L {JL—-Ig’( .10
- (A) 1 (B) 10 . (C) e (D) 0
11, (3'“/5)(3_\5)@ equal to: . _%xlx(3+\/§)(3_\5) 11
(A) 7 (B) -7 (C) -1 D) 1
12. Factors of 3x* —x—2 are . . [— etz 3x* —x—2 12
@ (x+1),(3x-2) @) (x+1).(3x+2) () (x-1).(3x-2) ‘() (x¥-1),(3x+2)
‘13, HC.Fof a* —b’ and &’ -’ is: el @’ b’ ma’ — b 13
(A) a=b (8) a+b (C) a*+ab+b’ D) a’—ab+b’
14. x = 0js a solution of inequality. _;.;..J:K:.ﬂj’ia.,l;u,é x=0 14
A) x>0 B) 3x+5<0 () x-2<0 (D) x+2<0
16. Point (=3,~3) lies in quadrant. | —e SO (-3,-3) 5 15
(A) I (B) II (C) III ' (D) IV
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Mathematics (Science Group) (Essay Type) GI'UUP'I"I-;'JJI‘

Marks: 60 Time:2:10 Hours 25 2:10:3 60: 45
" Section -1 2x18=36 J.“-’L.b
2. Write short answers of any six parts from the following. 2x6=12 _q&fmglﬁﬁ?ﬂplm{;dﬂ:—u-‘.‘_tjém 2
i. Define rectangular matrix. _.’-"_5»(._9 FA e
3 0 6
i. Find AB, if: A= {_1 2}3 = [J Siegote 3 S AB i
5 4 3,2 2
iii. Simplify. (2*" Y )(_Bx Y ) _cf;ﬂf il
2
iv. Simplify in the form of @ +bi (\/g = 3f) | _a_.i-f%:ﬁJ a+bi g
v. Findthe value of x ,when: Cogsx =4 .ﬁaf((:l"‘:afJ * v
, : , . 8 Eﬂ : 9 ;
vi. Express in ordinary notation. 7.865x 10 VAL i
(x+2) (;&:2 —1)
vii._Reduce to the lowest form: (x+1)(.1*2 _4) _&;’Uu:f@} < Vil
viii. Simplify: (3++3)(3-+3) A i
e
ix. Factorize: x*=1lx-42 JEESA X
3.~ Write short answers of any six parts from the following. 2X6=12 ..J_/gffal,lﬂﬁ?é:ﬂz[{;éfc.Jg,kiiw: -3
i..Define L.C.M. Ly A5 P
ii. Solve the equation: Y3x+5=3x-1 _wf;r;bﬂ i
il SD]ﬁe the equation for x . |3x N Sl =4 _d_“_f;'}”ng X ii
iv. Define origin. '. _g?-:y/U s IV
v. Plot 6n the graph paper. P(0,6),Q(3,0) -%/r;[.l?{/f:a_jff v
vi. Write distance formula. -.?,"qJ:’;Ub’ilfﬁ Vi
vii. Find mid point of line segment of these points. A(-8,1),B(6,1) ,EH.ZF:L”JEE&L{;;E’M;@;LLL:@@M Vil
vii. What is meant by 4.5.4.= A.S.4A? e ¥ AS. A= AS.A i
N
| ix. Find mZ L in given figure. _%ﬁ” msLL uﬂféﬁ; X

S.8.C-(Part-1)-A-2018

Roll No. o Dok (For all sessions)

(20 (sl S b




4- Write short answers of any six parts from the following. 2x6=12 _Qéfaglﬁﬁyﬁfl‘m{.:Jf::.ddi@a -4

i. Draw a diagram if any point in the bisector of an angle is LJLéﬁw_ﬁ,q{_jﬂt,_f.e___siju’fJ’&};lﬁr_ﬁ i
equidistant from its arms. | - ool Salace UdaiL 4
i. What is meant by scalane triangle? Draw its figure. VY L (P PN = T N A
iii. What is meant by proportion? el ot il
iv. fmAE =3.2¢m ; mAD = 2.4¢m and mBC =4.8¢cm ., y s mAE =3.2¢cm ; mAD = 2.4cm S v
find ;m AB . -$’r:31” mAB % mBC =4 .8cm
B it C
v. Define ratio. _u:f...égf&_u_i V
vi. Define the altitude of parallelogram. A _%i(_g/TJ EENLL e i$ns i
vii. Define circumcentre of a triangle. _g(...y/i"(f?}aﬁlﬁf_éﬁ‘&( Vii
viii. Find the value of X in the given figure. foom 12 _eein 3 x LSS i
B - C
x C 5cm
ix. Constructa AABC in which: mAB =42cm , mBC =3.9cm . mCA =3.6¢cm _ufu;:u:f[;;ABC@J}"n ix
Section -II | (22
Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 _%djﬂaﬁdrr_?q&faymiamrj&’ 0
5. (@) Solve the given system of linear equations by Cramer's rule. ugzj’&:AJU;FL/{);rU;UPJHdJ () .5
3x—-2y=-6 ; 5x-2y=-10
> |
| (216)% x(25)" y,
b) Simplify: 3 &2 (L)

; 0.7214x20.37
6. (a) Use Log table to find the value of:

60.8 --’;-jri?‘}”u"—uff—-—utfdz.sf(%@ () 6

(b) Find the value of ab+bc+ca if. a’+b*+c* =45 ga+b+c=-1 5);'L£/E'J”¢ftf“b+bc+m ()

7. (a) Factorize: 8x" —125y° —60x>y +150x)” e () 7
(b) Find the square root by division method: 4+25x ~12x ~24x° +16x _"c_ffz',-l’”c’; /1;};&:;& ()
; | 5 (J: o 3) s X |
8. (a) Find the solution set of given equation: T_J‘ =1 _"é' HL,{/?‘:]”:,-:‘_,PE’:J:L/L:‘? > () .8
(b) Construct the A 4BC .Draw the perpendicular Lol sl e . ABC &L (n_«)
bisectors of its sides. mAB =2.4cm ; n':-'A_Cz 3.2cm , mLA=120" ,u_“f-'(...éftd;f
9. Prove that the bisectors of the angles of a triangle are concurrent. iugiﬁﬁﬁﬁtiugﬂjuﬁiﬂﬁ ,:_")::.rL 9
OR L .
Prove that triangles on the same bases and of the same ui,,?xuu.m:l.ft,Lﬁbiﬁujwluﬁdh{;mﬁ'@_gﬁﬁ &l é:.f!, 2
altitudes are equal in area. _Jum:lj;
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RollNo.

St (For all sessions) PaperCode | § | 1 | 9 | 2

Mathematics (Science Group) (Objective Type) Group-ll.- .?d/f _(o:f’,/)(._;,,fu"‘"t,-) d‘ .l: J

Marks: 15 : Time: 20 Minutes &2 20:=3 157
A 38312 e Wt Pt L s DJJLC.B,,&:.,I,H,-,GJELerzg{LQ K@fﬁﬁﬂﬁjaylﬁﬁaﬂffrﬁlé
| S e SLSBLIMN S5 UL D | CBA sz L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided,

1 2 | 11 2
1.1. Adjoint of L:, _1} is equal to: -l Aaj [g _J By |
-] 7 ] =32 -] <2 -1 0
Ao -l B) |0 -I © o 1 D@ 12 1
2. Real part of 2&'5(5"‘52) is: -q.-,.m?t:??lf zﬂb(f'ﬂz)/{;ﬂf/ 2
(A) —2ab (B) 2abi (C) 2ab (D) —2abi
3. log, xlog . can be written as . _q_CﬂLgLeﬁLﬁ ------ 4 Log; xLog, 4
(A) log, . (B) log; () log; () flog;
4, (\E‘H@)(\E\E) is equal to: | _ﬁ‘-_.,,;x,,;(\g“ﬂ/g](\/a—\/g) 4
(A) a+b (B) a—b (C) a’+b’ D) a-b
5. Factors of 3X" =X =2 are; | ~ud il 3 ~x-2 5
A) (x=1)(3x+2) (B) (x+1)(3x+2) ©) (x+1)(3x-2) (D) (x—1)(3x-2)
6. HCFof x*=5x+6 and x* —x—6is S (E’I;Lpis’xz —x—64x'-5x+6 6
(A) x+2 (B) x—2 ©€) x*—4 (D) x-3
X=- Y iy 3 2 &y 3 X
T is a solution of the inequality ~* <~ {5 _;;,c)‘.?,ga.rwz:‘ =% {E;PJL-‘/,{ == ]
B s D 3
Ay eSS (B) 0 () 3 D) >
8. 11(x: 0)=(0.7) then (%.7)is equal to: _f_.;:L;(x:J")I}r (x,0)=(0,») /i 8
) (0.1) @) (1.0) (¢ (0,0) o (L1) |
9. Distance between the points (130) and (Oal)is - — e EL}E‘JJK(U:-])JJI(LD) b .9
(A) \2 (B) 2 (C) 1 | (D) 0
10. The symbol for line segment is: _%Jﬁdwlywiiﬁgﬁ 10
(A) > B () o L
11. A parallelogram has congruent. | U SR WL 1
(A) oppositesides {il»L.J (B) opposite anglese_si_i (C) diagonal s (D) BothA & B s
12. The bisectors of the angles of a triangle are : | Y S . St L upius L ks’ 12
(A) parallel (15 (B) concurrent LA (C) equal sz (D) congruent 1=
13. Equality between two ratios is called: S AP L S el Ushs A3
(A) proportional ¥ (B) ratio e (C) cn'ngruent ji.-"‘ (D) equality (sl |
14. Area of given figure is . | i i| _ o Erpreresa S¥FSS 14
. f:':l'l'l
(A) 5cm? (B) 10cm? (C) 25cm? (D) 20cm?
15. The medians of a triangle cut each other in ratio . St 6{):;9&",;1_ odle sl b 15
(A) 1:3 (B) 2: 1 (C) 1:4 (D) 1:1
- 219-09-A-%W |
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(For all sessions)

4w Fl
S -t /.;;:.P‘..v el

Rogl No.,

Mathemaﬁcs (Science Group) (Essay Type)

Time:2:10 Hours &2 2:10:3
Section -1 2x18=36
2. Write short answers of any six parts from the following.

Marks: 60

i. Define Diagonal matrix with an example.

Grnup-]l-.?fsf

Bl (7 L
6[]:/:}

Jilo

26=12 - fe L mg e S st 2

_&def\..pu!g_@/‘-’.g{_jﬁ‘d}: A

-1 2 -1 2

i, IfA ={ ) IJ, then find 2A matrix. _aﬂ.f{,')-”.._JE'EA:_uLﬁ? 4 :[ 2, ]:'JT i
31 Gt iy

i, Simplify: 16x"y i

iv. Find the value of X and J, if X+iy+l=4-3i e YV mx

v. Find Log; ,i.efind og of 2 to the base 4. -%:L”:.ﬁfgf log: v
- (og?" = x s rx

vi. Find the value of x. s = Jq_,ir(-:h’.:,f‘f Vi
Txy 14y ;

vii. Simplify: 32 sl 2 uc_,i;i Vil
3 3 -

viii. Factorize: 64x" +343y -JASE i
Ix. Factorize: 25x% +16+40x Hq/dfh X
3. Write short answers of any six parts from the following. 2x6=12 wp_f.{;/{:w?/a?ﬁpm@:.&fc.u:ﬁj@u 3
s ; 30574, 01> %57 i S, .
i. Find the least common multiple.(L.C.M) Yz , 2xX'yz quf/?':l”u hdlbe2lys ||
ii. Solve the equation: Vx=3-7=0 _ééfffaijb Ji

| i 4=]
iii. Find the solution set of 5'3-’" +2|-4=1] -a;?}w.fd" i
iv. What is meant by Cartesian plane? ?.;_Jygf:_dﬁ*‘o'ﬁ:b’ v
v. Find the value of m and c of equation 3x + 2y—1=0 by L6ty =mx+cd 3x4 2y=1=0cbl- v
expressing it in the form of ¥ =mx+¢ _;_J_“)F':L‘fc..fdlcmmﬂi
vi. Define the co-ordinate Geometry. _L,_ff._y dejﬁy_?.:.:-_%jﬁf Vi
vil. Find the mid-point of the line segment joining the b’l:i(‘,’”l_hi.u:ﬁ_,?ﬁ&bl‘é(fé_; Vii
pair of given points. A(3,-11),B(3,-4) _“_5;,&’,55(3@;
viii. What is meant by congruency of triangle? ?.;h:y"bf.;gfuJu?ﬁ" Viii
ix. Define the square and also draw its figure. _bf#lzu‘ffgfubﬂq/my/ﬂfﬂ’;/ X

4- Write short answers of any six parts from the following. 2X6=12
.. What is meant by ratio?
ii. Define triangie.

iii. Define rectangular area.

U2 fe 2L g e $e it -4
?:E:_be'“[/fi."_au:r{'; i

NSy A

BV AN il




D

iv. Find the area of given figure. _%PJJKﬁG& v
3cm
' 6cm =
v. Define congruent triangles. _;,ff...y/’Juff’Jb* V
vi. Verifythatthe trianlge is right-angledtriangle: a=5m , b=12cm ,c=13cm q;*;_f;r)’ly’ﬂwfqu&“ﬁ Vi
vii. Find the value of X . U x i
10cm
6ecm

X

viii. Construct triangle ABC in which: mZB=60" , mBC =3.7cm , mMAB=4.8cm S EbAABC &L vii

X. Define equilataral triangle. _u:/bér/"'Je,lf{,wmd:ﬁ» X
Section -II (>
Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 —c_ (519 i B feliz L iy B os
9. (a) Solve by the matrix inverse method. 4x+2y=8 ; 3x-y=-1 H%KJLJJJJJGALU!.JF () 5
(216)% x(25)" |
(b) Simplify. (0.0 4)—% U (L)
(438)+/0.056 _
6. (a) Use the log table to find the value of: (388)‘: _E_;f-F:j”..w,’f;uJJwﬁ@ () .6
1 5 1 o B 1.
(b) If I*;*f then find the value of * ~ 73, Ve 1 T ‘;=4/r (o)
: L2 o 2 s .
7. (a) Factorize: 3x* ~38xy—13y _£67 () 7

(b) Use division method to find the square root of the expression 9 — 6x* + 7x% — 2x + ] _.:-;:;f“-?:*“r‘:iu,}d/ujgb’,b?d,%! (l---")

8. (@) Find the solution set of the equation: 13 + 23"" - JGI - 7‘ _%}mﬂj’s’mu (W) .8
(b) Construct A X¥Z and draw their medians. _z’*_f"‘*é,lh-nﬁu’mrf;_h)(‘r’z.f-.ﬁ ()
mXY = 4.5¢m : mYZ = 3.4cm, mZX =5.6¢cm
9. Prove that the bisectors of the angles of a triangle are concurent, _giﬁ}ﬁﬁﬂtéugsiiuﬁiﬂu{f ;’:_?:fl: 9
' OR L
Prove that the triangles on equal bases and of equal-altitudes are Ldmasi s bl bl PSS U St
equal in area. _JUﬁxJz
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RollNo._____ o S ibisor (For all sessions) PaperCode | 5 | 1 | 9 | 1
Group-I- u....d/f . = ot

Mathematics (Science Grnup)(Objectwe Type) (U‘i!f’)(wfu"'b') (f L

Marks: 15 Time: 20 Minutes &4 20 123 - 0

/defJffdb/dl?r g r)/,__,j_,'),_;} u’ffu‘:...;Dﬂ 1,C,B A»...JUJ"’JJBLJFF,Pqudbfd!.?ﬁ"/’dfdjuu,?cﬁwﬂl'r!’l/ Y
_JJ,P';LS?L-JJL;L:rc....fb,nhf.:;u“u:fbi:[l L C,BcAsz& L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

(2 1] 2 1
1.1. Order of transpose of g 1 is: _.1_:,._;»;:51,}!3‘.}:;.’;1}[. 01 A6 1.4
3 2 3 2

(A) 3-by-2 _ (_B} 2-by-3 - (C) 1-by-3 (D) 3-by-1 - )

2. Every real number is a: . | | BT /‘ ﬂ:,a; 2
(A) positive integer méﬁ_ﬁ_g’r (B) rational number s Pt Ll
(C) negative integer ,ﬁéff4 (D) complex number /u-_?.:{ .y

3. Base of natural Logarithm is: - @.JHJ&@@J 3
(A) e (B) 1 (C) 2 (D) 10

4. (\/E"‘\/E)(\/E_\/E)is equal to: *?A,J:(JE-}-\/E)(JE—\/E) 4
(A) @’ +b’ (B) @’ b’ () a=b (D) a+b

5. The Factors of a‘ —4b" are: Ut Uil at —4b*
@) (a=b),(a+b),(a* +4b") @) (a*-207),(a*+20°)

) (C) (a—b),(a+h),(a2 -—452) (D) (a-—Zb),(az +2b2)

6. L.C.Mofl5x*,45xy and30xyzis: . e Pi3bmissg 305yZ 11 4537 (1557
(A) 90xyz (B) 90x%yz () 15xyz (D) 15x%yz

7. |f the capacity "C" of an elevator is at most 1600 pounds, then: :;'J’s'ﬁ:;“BUU&JL}Ln}L}"C"JprrJLL;fanfJJu-{T 7

(A) C<1600 8) €=21600 (c) €=1600 (D) C>1600
8. Point (2,-3) lies in quadrant. e SIS (2 -3) 5 .8
(A) I (B) II () 1II (D) 1V
9. Mid-point of the points (2,2) and (0,0) is: . o mm 50K (2,2).41(0,0)56 .9
(A) (1,1) (B) (1,0) (€) (0,1) D) -1,-1)
10. In a triangle, there can be only right angle. _‘F.Cﬁﬁf,su.‘f’ﬁ‘. _____ Jﬁ;}!bﬁf .10
(A) 1 (B) 2 ) 3 | (D) 4
11. Median of a friangle are: : Sl g bl ik 11
(A) concurrent .!z’il(? (B) equal .« (C) congruent JLL?-‘ (D) parallel gil#
~12. Any point on the bisector of an angle is fromits arms.  —e by e USNLb piot e ;Uo’f B
(A) concurrent ,E'a!(‘*' (B) equal «l« | (C) parallel  (Si# (D) equdistant Lol fsl-
~ 13. Congurent triangles are: : -wdru*J"ULf" 13
(A) different ¥ (B'] parallel  (il# . (C) similar . (D) concurrent ,luf(T
14. Congruent figures have area. _L,;_rfjn _______ gf,._is‘;,_)ﬁifuh 14
(A) same  «lz (B) congruent Jﬂl.?“ (C) different e (D) non-congruent Ja&'*/f |
15. If three altitudes of a triangle are congruent, then the triangle is_____ e wuﬁwdﬂmﬁu,&:w,gﬁ 15

(A) right angled ,;ri‘rﬁ'ﬁ" (B) equilateral {Uxiifsl~ (C) isosceles cﬁU#d:L-b" (D) acuté angled ::U;i?:lo
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S.8.C - (Pari-1) -A-2019

. |Roll No. e Sosp M (For all sessions)
; Gmup—]—.f:f . : .
- Mathematics (scienceGroup) (Essay Type) =~ (80 (D S L
Marks: 60 ‘Time:2:10 Hours &£ 2:10:% 607
Section -I 2x18=36 Jilo
2. Write short answers of any s(x parts from the following. 2x6=12 —q&f@yﬂﬁgéfﬂa’éﬁ-éfﬁ—[;(J._’jE/JJ 2
i. Define scalar matrix. - | - | . ..L,_f/f_é_i/""&._.)ﬁ'f.‘:c J
. A | |

ii. Find the product of: [] 2]{0} Sl A
iii. Define the set of whole numbers. _L,_ffu.@/"’_gfd{c‘::w&)‘{ ii

| iv. Express the following decimal in the form of {—: where: 7-4>€ Z pf/fqlﬁui’ftfgﬁﬁdﬂffu}&,ﬂ AV

and 4%0 . 03=0.333........ - 03=0333..... 9#0uP9EZ 3

v. Define common Logarithm. -%(—@,;Jﬁ@rh v
vi. Find the value of X if: log.64=2 :,ﬁ.gfphu_é'tfx Vi
vii. Define Rational Expression. : | _L,:/...QJ/TJ,U.’&!T Vi
vii. Find the value of (@° +7) i a+b=10,a-b=6 ﬁé’}:bf;_f (@ +0) i
ix. Factorize: ' xt=Tx+12 _%; X
3. Write short answers of any six parts from the following. 2x6=12 _L}_‘)}fmyﬁ/‘?ﬁﬂzl{;éﬁ;uﬁﬁjbﬁ .3

. Use factorization to find the square roots of: 4x* —12xy+9 yz _é'f“”‘ & A S f:.gf.ij_- |

ii. Define radical equation. _.ﬁ__gi:y}J;_,i;L.»d;;,; i
iii. Solve: Bx—5|=4 _g-ﬁ’ i
iv. Find the value of 77 and ¢ of the equation2x—) =7 by sty =mx+ ¢ 2x —y=7 L_-:,r,L.-J,;{U’; v

| expressing it in the form Y = mx I+f3. | %?':‘”::«EJCM m sl s S

. v. Define origin. | _,"Td?fh.é,ﬁgf(u.ﬁ;;r)fg v
vi. Find the distancelbetween the given points, A(S,2) , B(7,2) _&_?F}”Jmﬁuy;:ébﬁ?afé.: Vi
vii. Find the mid--point between pairs of points. A(6,8) , B(4,-2) -épbi&ﬁdwwﬁgim Vil
viii. State S.A.S postulate. | Héjg{;ﬁrﬁ'f_}-u} Vi

ix. Define parallelogram. _ﬁié!fd/bﬂ:ﬂﬂldjl? X




-

4- Write short answers of any six parts from the following. '2x6= 12 -u’ff...uLI?/"LF!‘}IE:;G!’:,JJJ@: -4
i. Define Bisector of a line segment. —JILJJ;thﬁLLL?Jb i
ii. 3cm,4cm and 7cm are not lengths of the triangle. Give reason. uL,IfuL-zb_f;uif}ugl,)ﬁ,uhli;iaLf(?cm.uuicmﬁcm i
ii. NALMN MNIPQ if /M = 5cm. ;;—,-413 2.5¢cm,mLO =2. 3cm cmsM =5cm M- MNIPQUELMN &b jii

then find /N . ; o mé@ =2.3cm msP =2.5cm

y a -u{zjf‘:b’di;-ftf m<N

M N .,

iv. State Pythagoras theorem. _qfuy@;f@F'EJ iV

v. Find X in the given figure. ¥ ‘: J_Ecm - , iq/"jﬁ”xﬂg}ﬁ's@ v

vi. Define area of a figure. | . ISP Vi
vii. Find the area of given figure. qq/f'}”gjﬁﬁfd: Vii
100m
T6Cm

vili. Constructa A X¥Z . in which: mZX = 6.4cm , mYZ =2.4cm , m2¥ =90° LS EXYZE L vii

ix. Define concurrent line. | _g_’f._.g'_:f;_,(,l,ﬁ,ﬁ;fr’? X

Section -II | - (43,50

Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 -ﬁ:.djﬂs/:fdfr,éq,&faLiﬁiaﬂfryf“(f WLy
5. (a) Solve by using matrix inversion method. dx+y=9 ; -3x-y=-5 _E;ZJ’;:.MJJPLQ;JF () 5

| a ar a
(b) Simplify: [ L }[ T }[ PR ] _éﬁf" ()

3

(438)" x~/0.056
(

6. (a) Use Log table to find the value of;

e d e sl e B8 () 6

388)°
P (b) Find the value of =y x—y=4,xy=2] ﬁt{f?‘:‘”‘&ftﬁlf = d ()
i 7. (a) Factorize by factor theorem. X =2x% —x+2 _@fgudfﬁfﬁ ) .7
i (b) Find H.C.F by division method: x'xt=2xP+x-3, 58" +3x% -17x+6 ,%k’ﬁuj;;.}fyi;b (o)
’ 8. (a) Solve and check for extraneous solution. Vx+7 +4x+2 =v/6x+13 ._u_’fdt":;JJ"h:}L'omrFé{ffauP () .8
(b) Construct AABC, and draw the bisectors of its angles. ig_ﬁftcﬁu.fﬂjé:tﬂﬂf{_hABCLﬁ ()
mAB =3.6cm , mBC =4.2cm , mZB =175°
. 9. Prove that any point on the right bisector of a line segment is J:i.zﬁ,é"ﬂf'u:?ﬁCEI:{Jﬂtd;fz:MﬁJ(ﬁLﬂﬁé;rE
equidistant from its points. OR L K leWiSsloe Us Ll
| Prove that triangles on equal bases and of equal altitudes _Susisat Smssdlel Binle bl SIS St

are equal in area.
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S.5.C - (Part-1)-A- 2019

Roll No. 51T ) (For all sessions) PaperCode | 6 | 1 | 9 | 2
Group-II- .....«.sf ., 8 ..

Mathematics (Science Group) (Objective Type) (Uﬁf’)(uf!fwlf)w L

Marks: 15 ~ Time: 20 Minutes &2 20:23 15/“

/dlrufzdb’di.?r e Wz g & 5D CB Auuf.,ﬁbz:dryﬂg% s’dw‘ f{dj__.trfé_,mmr Y
..JJ/“LLFLJ%L[LJ‘E.!MWLJUMIJZ.D | C,BrA sz L
NQTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
‘ question with Marker or pen ink on the answer sheet provided.

(2 1] 2 1
1.1. Order of transpose of 0 11 -;:_,?JJK‘,JG'J:;J}JL 0 1 A6 1.1
& 8 | 3 2]
(A) 3-by-2 (B) 2-by-3 (C) 1-by-3 (D) 3-by-1
2. In335 tHe redicand is: _:;_.i'—..f.a—i.:ui'yﬁ 2
(A) 3 (B) }3- © 3 (D) fg
3. | The logarithm of any number to itself as base is: _r.;_t‘:r@:??mx@dbﬂﬂ@ﬁmf% 3
(A) 1 (B) 0 (C) -1 (D) 10 f

. 4, 4x+3y—2is an algebraic

o

Lg/Jf_,c'4x+3y 2 4

-—-—--——r-—----r

(A) expression M (B) sentence (C) equation s~ (D) inequation =lslosf
5.- The factors of ¥ —5X¥+0 are; Szl X =5x+6 5
(A) Xx—1,x-6 B) x—2,x-3 () x+6,x-1 (D) X+2,x+3
6. H.C.Fof a*—b” and @’ —b’is: e = sa-b 6
(A) a—b | B) a+b (C) a*+ab+b’ D) &’ —ab+b’
7. If the capacity "C" of an elevator is at most 1600 pounds, then _Pﬂj:i__lz*iBDDMLJ;M}:J"C";Fp'HJ.L.Lé’lzf:.' Sed g 7
(A) C<1600 8) 0>1600 ) 0=1600 (D) C>1600
8. 1% 0) = (0= J") _then (x, J”) is equal to: - Lls (.1‘, J") v (Is U) = (U,Jf) S8
@) (0.1) @ (1.0) © (0.0) o (L)
9. Distance between the points (1,0) and (0,1)is | et (0,1) 11 (1,0) 485 .
(A) 0 (B) 1 ) 2 (D) 2
10. In any triangle there can be right angles _.:;:_&Cmrﬁl,(u;’:u,?ﬁ'uf&lﬁu’( 10
(A) 2 (B) 3 (C) 4 (D) 1
11. Ina parallélogram opposite angles are B P — arsljhﬂﬁ'ﬁauhﬂldjir“‘ 1

(A) parallel ($i# (B) congruent ;ﬂr‘ (C) concurrent ,.!zﬂf" (D) perpendicular  [»f

12. The right bisectors of the sides of an acute triangle intersect _u"f_x” &f.---_fr_. ki b UL stinsle 12
each other____.
(A) outside the triangle i &d™ (B) on hypotenuse /s

- (C) onbase  soul . (D) inside the triangle .41 24>

13. One and only one line can be drawn through points. _L.CCLPV{HHEIJ/‘JJIJ/‘:,JJ:W _______ 13
(A) one (B) two 2 (C) three ¢~ (D) fout b

14. The set of all the points of cartesian plane enclosed by the triangle is called: -.Lt'M{_J!"J,h !;C..J.q_j{?urﬁltarud.l&dr’ 14
(A) interior of triangle  <s£18&l> (B) exterior qf triangle < z¥&d>
(C) congruent triangle wd‘w (D) Right angled triangle Wy Py

15. A quadrilateral having each angle equal to g0? is“c'alled:

(A) Parallelogram {W=uiSii# (B) Rectangle Jf-b'“
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(D) Rhombus

2

(C) Trapezium s




8.8.C - (Part-I) -A-2019

Roll No. o Spdid (For all sessions)

Mathematics (Science Group) (Essay Type)

Grnup—]’.l—..,;sj

(EN (/) (S

Marks: 60 Time:2:10 Hours &£ 2:10:% 60: 7
Section -1 2x18=36 Jit»

2. Write short answers of any six parts from the following. 2x6=12 *L{[;faLlﬁﬁyﬁrlZl{LJ&.‘,ﬁdjaﬂ 2
i. Define diagonal matrix. | TS
i. Find 24, if 4 { 21 ﬂ S on i
jii. Define set of integers. o ip_{fhgf:ﬁ:f[.:lﬁlg i
iv. Simplify the given radical expression. J % | _gdfﬁf’rbffﬂ@fdj v
v. Find the value of X from the given equation. log, 9=x :ﬁ.&f—?:b’.:«f X febiadih v
vi. If A =71, find A, where fr=%% andr =15, _ﬂ':g;;}l r=15 ,.{él,{/p-l”';«g’fJA?ﬂA =712 I i
vii. Define Surd. _L)__“)/_-';J/".Jr“’l.:fﬁ* Vii

3 ;

viii. Factorize: 8x” — 275 -L{/Lf AR
ix. Factorize: 25x% +16 4 40x _@fh X
3. Write short answers of any six parts from the following. - 2x6=12 _u‘_/f ;Efﬁﬁipizhz;é£-¢¢56ﬂ 3
i. Find H.C.F of: 39x"y’z , 91x°y°Z’ _u_’)?’:‘-"rﬁ'!;b ]
ii. Define radical equation. TS8Pl i
ii. Solve the given equation: 3; - I;Z = 265 _.e__é—fd‘?’;..wf s i
iv. Define ordered pair. - _L,f/_é!ﬁ(f;_}:?..‘.?/ v
v. Find the value of M and ¢ of the following equations L):»;ng y=mx-+c :r:.«IJL-*J_jEy.u v
by expressing it in the form of ¥ =mx+c, 2x+3y-1=0 .f:___f-?:"’:.‘z_’l}/ C.nlm
vi. Find the distance between the points. A(0,0) , B(0,-5) g pkeblend b Vi
vii. Find the mid point of the line segment by joining the given pair of points.A(-4,9),B(-4 ,-3) Féf-'cyb”,b‘i?&l;mlﬂlﬁé’fé_: Vi
viii. State H.S postulate. - ,.e“,f-f-,:g,;ﬁm",; viii
ix. Find the unknown x°, y°, m®and ° in the given figure. -QJE'P’;IJE*J 170 231 y° e x° r’:‘-”tuﬂnﬁﬁﬁd: X

r———
75 v 3

viii. |




Write short answers of any six parts from the following. 2x6=12 _J_,Qfaglﬁﬁgﬁ,:lz!g:.Jf;.gﬂd_iﬁm -4

Define bisection of an angle. _L,f/..éfﬁur 27 "‘"Jfgu A
BC . m/B =70° and ;2 C = 45° , which of the side of the s 1/ C = 45° 5 jn/ B = 70° SIEABC &L i

gle is the longest and which is the shortest. ?bﬁwuﬁ;gw&ri:{;_ﬂﬂdwé‘%uﬁ
“ine proportion. » iL{fu_éijng il

the value of X in the given figure. 15cm 13em _L{/?J”&UJ X.:.uﬁ&%! v
| LT \.
\.ate converse of Pythagoras theorem. g _ﬁﬂ-:ﬂg.:wf E_ﬂ,.ii-'f V
efine altitude of a triangle. | _L;;I._gﬁt,fwjrz:w Vi
ind the area of given figure. - X i —LJ)?’:J""JJF'& 36> i
efine circumcentre of a triangle. e ﬁ.uj/...éj fJﬂ}uﬁlﬁi&wﬁ* Vil
Construct a AABC in which: mAB = 3cm . mAC =32cm , mZA =45 St ABC =5 ix
: Section -II | (332>
e: Attempt three questions in all while Q:No.9 is compulsory: 8x3=24 —%dﬁﬂg/:jdlfﬁéq;“;f/:‘buﬁ-ﬂ:@ﬂ'f[:.flf O
[a) Solve the given system of linear equations by Cramer's rule. E:LJ?I:L/?::UO/GLMJUJ;BZA; (N 5
3x-2y=—6 ; S5x-2y=-10 uq;?,-)ﬂ’u;"‘-'f-‘f Pl X et b
2 |
(216)3 x(25)> 25 (L)
D) Simplify: 3 o —
} SR (0.04) % R
(@) Use Log table to find the value of: 0.8176x13.64 _.ﬁgr?'}*‘..:é'a.uprdwﬂb? () 6
¢2) Find the value of X =y | x-y=4, xy=21 :ﬁL{/rr;b’ale'] = ()
[a) Factorize: 8" +60x? +150x+125 q..gfjf" () .7
x+3 ] 4x
h' : o i — 5 %3
F}) Simpliy: 2x* +9x+9  2(2x-3) 4x*-9 'C—:'{ ()
, 1 17 2 3 11 2y
Pﬁ) Solve: D) x—g +§_E+§ N > AL ) 8
b) Construct APOR , Draw its altitudes. ;;?@ = 6em, mﬁ =4.5¢cm, mPR =5.5¢m _g{,tﬁxlflz APQOR (u,.«)
Prove that the right bisectors of the sides of a _@Lﬁﬂﬁﬁtwﬁibﬂbrﬁéﬁﬂ g-.(:.rb 9
triangle are concurrent OR | k
Prove that triangles on the same base and of the .z:L::f,@;r.ﬁwlgsluﬂdlsguﬁﬁ'wugﬁufﬁ” LS é::r':
same(i.e equal) altituded are equal in area _qu:’f.f:’.afgﬂ,_-?xnu:f
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